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109 Y1yt FHTALFYIA -0.4 -0.5 0.0 -0.5
11 2| 605|FEE &M@ INEHE X X 2.54 2.54
%0 ngb T8FEAF 0.0 0.0
12 1 686|=ik EA () INEHE X 2.0 2.32 2.32
Y h44 FHTALFYIA -0.1 -0.1 -0.1
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HEZF B [10A28H _ [11:50 |
=
ENE Bk
MERz] S E Fon - K % E% -1- -2- -3- O ES
11 3 806 Bi; Hzn (2) A 5.40 5.22 5 47 5. 47
NN Yag)ar EXRa +0. 1 +0. 8 +1.9 +1.9
2| 24 814|785 ZE(2) A 5.06 X 5. 36 5.36
AN Y Bt EXReg -0.2 0.0 0.0
3| 30| 5352|FFF mafE (2) FHE X 5.28 5.13 5.28
20 134 FEILE G +2.3 +0.3 +2.3
4] 33| S475[iEE FHE(2) hEE g 5.23 X 5.23
93/ k@b EENES: +0.2 +0.2
51 26| 695/"Ek BER (2) FHE X 5.05 5.12 5.12
Ny TH FEHEREHG -1.3 +0.2 +0.2
6] 21 195 MK FF Q) hEE g X 5.08 4.94 5.08
YEL a9n RESES +1.5 +1.5 +1.5
71 27 830 &k ET (D) A 4.82 4.64 4.96 4.96
13 Y3agar EXRog -0.1 +1.1 +1.6 +1.6
8] 20 845| X 1 (2) hiE g 4.93 3.92 3.54 4.93
YFr 493 ZAAC +1.0 +0.6 -3.3 +1.0
9] 25 850K ZE (2) hiE g X X 4.92 4.92
147 M ZHAC -0.2 -0.2
10| 34 665|HO =& (1) A 4.64 4.86 4.63 4.86
19 F a9y TiREAH +0. 8 +0.2 0.0 +0.2
11| 22| 4803|/NFE #HE (2) hE2 g X X 4.75 4.75
15747 19% Rigeh +1.8 +1.8
12| 16 19758 miE Q) hEE g 4.31 4.00 4.54 4.54
ahy TE SREEES -0.7 | -0.8 | -0.5 -0.5
13] 11 857|%H #£= 1) hiE g X 4.40 4.23 4.40
MY 1% ZHAC -2.3 +1.0 -2.3
14] 12 849[h ¥ #BaR (1) hiE g 4.29 X 4.18 4.29
Thh3 73% ZHAC -1.1 +0.6 -1.1
15| 15 194;0E E&/ Q) hEE g 4.00 4.11 4.26 4.26
175 39% RESES -1.1 0.0 -0.3 -0.3
16 8| 4076|E<K £ (2) hEE g 4.26 3.85 3.92 4.26
¥ by Rigeg +1.9 +0.2 -1.0 +1.9
17) 17| 4065|mHRE AR (2) hEE g 4.25 4.20 X 4.25
1Fth bEY tRESES -0.8 | +1.4 -0.8
18] 19 826|=H #HKX () R A X 4.12 4.25 4.25
394 294 EXRdG -1.4 | +0.6 +0. 6
19] 10 858| LBF # (2) hiE g 3.56 X 4.16 4.16
91) 49% ZHAAC -0.6 +1.2 +1.2
20 3 102(7 % EE (2 FHE X 4.13 X 4.13
§rL3 43 FHA LR -2.4 2.4
21 7 699 (%2 wE A (1) FHE 4.00 3.71 4.06 4.06
VL FHAL LR 0.0 | +1.3 | +0.1 +0. 1
22| 23 T18[#2@E =t (1) A X X 4.04 4.04
WE ank WAFIES +1.1 +1.1
23] 28] 4800[7%E /(D) FHE 4.01 X 3.90 4.01
733F hol FHAL LR -0.1 -0.6 -0.1
24) 13 811[h %y W2 (1) FHE 3.86 X 3.61 3.86
h Yo% EXRdG +1.0 -0.4 +1.0
25| 14| 4058 /ﬁ7}( &R () hEE g 3.84 3.64 3.67 3.84
Y3IRT vavy RESES +1.2 -1.4 -0.1 +1.2
26 1 696| =88 =k (2) A 3.74 3.18 3. 43 3.18
apNT 391 FEHEEHG +1.2 +0. 6 -1.9 +0. 6
27 5 706[=R —F 1) FHE X X 3.63 3.63
D 94 FHA LS -0.5 -0.5
28 4 191 |KT E Q) higE g 3.51 3. 61 X 3. 61
/98 YN 4 RESES +1.6 -0.1 -0.1
29 6 198 |#R &N () higE g 3.54 3. 60 3.60 3. 60
29N $39AF RESES -0.7 -1.9 +0. 1 -1.9
30 2 843 FriE & (1) hig g 3.20 X X 3.20
%Y A ZHAAC -1.0 -1.0
9| 4060[ILO EFEM) R Ri5
O F Yagn tREAEMES
18] 866|F@E a@Ae(l) hZ4E x5
by v ZAAC
29| 5015|=H #=@0) hER A x5
NIV $hEE b
32| 856[#M@E BAQ) hZ 4 Ri5
LAV ZAAC
35| 852[FK F‘ib(3) hZ4E Ri5
Y3AT ¥ ZAAC
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=
TENEEk
IEGL[ | Fon - K 4 FiE4 -1- -2~ -3- —4- -5b- -6- FOER [ES
1 8| 637\E# 8 — g 5.58 5.65 6.01 6.01
Tt $3/Y B R mER 0.0 -0.1 -2.0 -2.0
2 3| 1727|£B FH ) B 5.35 4.61 4.85 5.35
9F b NEEES +2.1 -1.1 +0. 6 +2. 1
3 7 128 KAR —# (2 ERE 5.33 5.10 5.217 5.33
MK HAT# B3 -1.6 -0.2 -0.3 -1.6
4 5[ 2001|sh4F #& (D ERE 5.32 5.13 5. 11 5.32
This hv BEREZE +1.1 -0.7 -0.4 +1.1
5 2| 252173k W (2) ERE 4. 61 4.63 4.88 4.88
1b9 3%/) AEEES +0.9 -0.9 +0. 1 +0. 1
6 1] 691480 —#X — g 3.34 3.55 2.73 3.55
t F ha"a% FEFHRER 0.0 +0.2 -0.9 +0.2
4 124|117k BER(2) =R Ri5
1by 3% LA
6| 618|LEfE & — % Ri5
VARV LY -3 A B
9] 106/=R =& (1) ERE Ri5
Y IVEVE! s A
10]  622|K# K#c ZH Ri5
147 MY B RFER




FF B3 [T0H28H 1000
AR (7. 260kg)
R
NEHL | &4 | Fon - K i £ -] -1 -3-] 4 [ 5 | -6- | =8 E
TeEh g el T
117" Y : : : : : '

3 1] 618 #/‘%fwﬁ ;—?%“‘/x“ﬁﬁ 7520792 x 802 X | X | 802
HhZEEF B [T0F28E 1000
A (5. 000kg)

R
REERE P ] K % - -] - [ 3 4 5 [ 6 | B | B=
e, g el e
3 7 704%;’%27&) ?ﬁ%ﬁ 7.46 7.15 7.52 7.98 7.67 7.69 7.98
1) 917 2 E : ' ' ' ' ' '

g fme e

64 TR AED eh —tenleml - - - em

T e RS RO Eﬁi 5.73 5.73 5.64 5.67 | 5.78 | 5.67 5.78

8 708:’75;’%1 /280 Engﬂz 5.35 | 5.20 5.54 5.22 x 5.10 5.54

o 2662 I AE (D) T 5.09 5.4] 5.20 . . 5.41

8633 A B T o . . . — %
LD KB




